e : dZy / dy 4/3.
The sum of the order and degree of the differential equation x (—) = (1 + —) 15

dx? dx
y ¢ whow d’y lfz dy 4/3 — " Y,
292500 DaDSO0 x (E) = (1 +E) 0308 0PN DO Bifede)
o
Options :
5
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8
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Question Number : 81 Question Id : 4509387281 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The potential difference across the ends of conductor is (30 + 0.3)V and the current through the

conductor 1s (5 4 0.1)A. The error in the determination of the resistance of the conductor is
28 TSy A0 N FVOHO B30 (30 +0.3)V B0 TeTE0 5O

DS TR0 (5 4 0.)A. ¥i8sy) ABS0 BE0NS B0
Options :

1%
2%

3%
3.¢

4%

Question Number : 82 Question Id : 4509387282 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
A body thrown vertically upwards from the ground reaches a maximum height ‘H’. The ratio of the

- . 3H 8H |
velocities of the body at heights ) and y from the ground 1s

24720 oG § 82 0020 DGR 28 s TON (10 i) H'. 2780 ok

M, , . OH
— Sooy— AR 6 SNy Free) A e

Options :



4:9

1. %
27:32
2. %
3:2
3. %
4 % 3:8

Question Number : 83 Question Id : 4509387283 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The angle made by the resultant vector of two vectors 21 + 3j + 4k and 2i — 7j — 4k with x-axis
15
21+ 3) + 4k B0 21 - 7j - 4k Boch DOI® HO HOY, x-03 08 ToTe0
Options :
60°

1. %

45°

90°

120°
4, %



Question Number : 84 Question Id : 4509387284 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The relation between the horizontal displacement x (in metre) and the vertical displacement v (in

metre) of a projectile is y=3x—08x% The time of flight of the projectile is

(Acceleration due to gravity = 10 ms2)

2,8 (93950 G308 882 drods FS030 x (D& &) Bk § Bze0a

TS5050 y QOO0 &) © D5 02080 y=3x- 082 D350 TOS

DOSPEI0D FNB0 S0 (HEdE 3 ¢ 58ea0 = 10 ms)
Options :

.55
1.4

Question Number : 85 Question Id : 4509387285 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A 100 kg gun fires a ball of 1 kg horizontally from a cliff of height 500 m. It falls on the ground
at a distance of 400 m from the bottom of the cliff. The recoil velocity of the gun is (Acceleration
due to gravity = 10 ms™?)

500 m €O D03 DO 100 kg e 2,8 ars 1 kg (072 (e 2087 § 23
DesrodBor DOY00. & 208 P30 @D Hod 400m ErE0S N
DBSE. 0B S T (EES 0 (Hehed s & 58690 = 10ms™)

Options :

0.6ms !
1. ®

0.8ms™ !
2. ®

0.2ms™ !
3. %

0.4ms™ 1

Question Number : 86 Question Id : 4509387286 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Ablock of mass 5 kg 1s placed on a rough horizontal surface having coefficient of friction 0.5. If a

horizontal force of 60 N 15 acting on it. then the acceleration of the block 15 (Acceleration due to

gravity, g = 10 ms ™)

5 kg (903503 (10 2,8 B30 e Heag0 0.5 SORS fiKh% § B8 dairoed her03)

GO, & BR) D 60N §2 ATt 200 A B0, & A} 660

e |
o

((hed ¢ ¢ 09890 = 10 ms™2)



Options :

7 ms 2

1.4

5 ms ™2

10 ms ™2

. =,
4 % 15 ms

Question Number : 87 Question Id : 4509387287 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The average power generated by a 90 kg mountain climber who climbs a summit of height 600 m

in 90 minutes is (Acceleration due to gravity = 10 ms™)

00 kg © 2,8 3 0 PEE 600 m DEN (16> DT 90 ANTOS AT FONES
BA0NTN DN P50 (DD £ ¢ 6¢%€a0 = 10 ms ™)

Options :

100 W
1.4

25 W

200 W



50 W

Question Number : 88 Question Id : 4509387288 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A boy weighing 50 kg finished long jump at a distance of 8 m. Considering that he moved along a

parabolic path and his angle of jump 1s 45°. his initial KE 1s

50 kg € ST 2.8 2200CD €70 202 & 8m EFG0S AR, BB HTWOOH
HB0S SBETENEDEN HOOW @ 45° FHos ErSEDEDN. NS

65 &¢) e 45

Options :
960 J
156017

2. %

246017

3. %

1960 J

4.

Question Number : 89 Question Id : 4509387289 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The moment of inertia of a rod about an axis passing through its centre and perpendicular to its
1 . : . . .
length 1s = MI2. where M is the mass and L is the length of the rod. The rod is bent in the middle

so that the two halves make an angle of 60°. The moment of inertia of the bent rod about the same

axis would be
(55509 M, SR8 L 0> 565 T8} S0ehs80ch) D0k e 5B SPchaydh ©020T

(> 9% 0 0T T B3Ched La,méol—lz MI2. B0tk Sfermren 60° S0 TRer

SO TR D50 S S0DB0B. 8 SoUAS EG TY; BchehS (a0

&3 50 HG0rT
Options:
1
— MI2
48
1. %
— MI2
12
2. ¥
1
= LMLE
24
3. %
] §
= iWLZ
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Question Number : 90 Question Id : 4509387290 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A uniform rod of length ‘2L’ is placed with one end in contact with the earth and is then inclined
at an angle « to the horizontal and allowed to fall without slipping at contact point. When it becomes

horizontal. its angular velocity will be

2rCe3 2L (10 2,8 NSO ¥ 2,8 DG 2P T Bochsd DS 20 @ S0
TP GOBE® TONT G0UG00. 8 3 A &8 Dodhy SO shom
50T (8068 et S) B8, 2708 Melrosdore H35)008 o) Sedoh St

Options :

3gsina
2L

2L

3gsina
2. ®

6g sina

L
3. %
L

gsina

4, %

Question Number : 91 Question Id : 4509387291 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Two simple harmonic motions are represented by y; = 5 [sin 2mt ++/3 cos Zﬂt] and
y, = 5sin [Zm‘ +E] The ratio of their amplitudes 1s
; i3 " W m v ;h)
yy =5 [sin2mt + 3 cos 2mt] HOO y, =5 sin {ZIIH-EI B dSGETe) Jo
DEET0e ) HOTOR AT 0. a7 §0::5:0e A )
Options:
« I3

1.

5 A |

Question Number : 92 Question Id : 4509387292 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



When a mass “m’ 1s connected individually to the springs s; and s,. the oscillation frequencies are
vy and v,. If the same mass 1s attached to the two springs as shown in the figure. the oscillation

frequency would be
m’ (O33R 51 DB 55 ()00 ©F) FO $HT DAY S0 Pedza)sen
SO vy DOy, BT ($S5TFN Tod [R0HOR A0S IRVANIAY

O DNOTTI0 T 50 Zreda)d50 d0h?

Options :
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Time:0



A satellite moving round the earth in a circular orbit has kinetic energy ‘E’. Then. the minimum

amount of energy to be added so that it escapes from the earth

25750 O ST 88 565 B 2.8 & fsT0 BEy (1B248 E. b 257
D0G DeroNN0 WO I8 WOB0ISO VN @ da) 33

Options :

£l

2. &

E/,

2E

Question Number : 94 Question Id : 4509387294 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The elongation of copper wire of cross-sectional area 3.5 mm?, in the figure shown, is

(Yeopper =10 X 10%° Nm™? and g = 10 ms™2)

"4

2% S dod, ohe DTG IFO50 35mm? ©Nd, TS O
¢ AN

il d

OO 0eH? NECe

(Ympper =10 X 10" Nm ™2 80 g = 10 ms )

Aluminium
I m

Copper || 0.5m

Tkg

Options :

107*m
1.9

107°m

10 °m

107%m

Question Number : 95 Question Id : 4509387295 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Water 1s flowing i streamline manner in a horizontal pipe. If the pressure at a point where cross-

sectional area is 10 cm? and velocity 1ms ™ is 2000 Pa, then the pressure of water at another

point where the cross-sectional area 5 cm? is
A IaTeT0 AOEGI ) 2,8 § 82 5706 YOS DSBS 37050 10 cm?
) 28 HODY SO [WFPSH0 1ms™ sHOOW [ATFT S0 2000 Pa ©ONS

SDBSTIE 37050 5 cm? (16 ST D0ce) 3¢ B0 e
Options :

2500 Pa
1. %

2000 Pa

1000 Pa

500 Pa

Question Number : 96 Question Id : 4509387296 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
A metal ball of mass 100 g at 20 °C 1s dropped in 200 ml of water at 80°C. If the resultant

temperature 1s 70 °C. then the ratio of specific heat of the metal to that of water 1
&1 20°C SO 95) 100g © 2.8 Se:) Femd) 80°C S ) 200 ml NES
2EBDSYE 8 2O G 70°C BB SeTsd HOCH I T,
DT QB Dens

Options :

1. %
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1/,

2. %
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Question Number : 97 Question Id : 4509387297 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The efficiency of a heat engine that works between the temperatures where Celsius-Fahrenheit

scales comcides and Kelvin-Fahrenheit scales coincides is (approximately)

2,8 G000 ) JOHR-OR a1t T 8IS0 OO 3O - a8

228 ST DSBS SISO D5 HATNOTY TR (38 & (D)

Options :
45%
1. %
TE07
5 % 35%
60%



Question Number : 98 Question Id : 4509387298 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Initially the pressure of 1 mole of an ideal gas is 10°Nm™2 and its volume is 16 litre. When it is

adiabatically compressed. its final volume 15 2 litre. Work done on the gas is

o 3R
molar specific heat at constant volume = =

1 36 e3¢565) P08 D8, 0SIBSTETREN SEIT 105Nm2 O 16 eI, &
FOWMHD VFAE HoDGETVS HETASHD T HO DdHBSFE0 2 OLB.
T0ka) 3 200 932 [P 080 Frerd MFaro 2

Options :

72 k]
7.2 K]

720 kJ

360 K]

Question Number : 99 Question Id : 4509387299 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



An ideal gas 1s taken around ABCA as shown in the P-V diagram. The work done during a cycle is
28 868) TOW & (808 PV H00S Wrartd ABCA 80D EoHE
HOTONEAS TOVHIOVD R J0H?

P
A
T B(3V,3P)
1 A C(3V,2)
(V,P)
! eV
E D
Options :
2PV
1.4
PV
2. %
=P
3 %
Zero
),
4, %
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Time:0



The ratio of kinetic energy of a diatomic gas molecule at a high temperature to that of NTP is
28 & S0remS @980 @HS Gaf|ied Q) ) a)Cd NG NTP Q) Ged) o))
T fBFHO A

Options :

3/,

1. ®
5/3
2. %
5
3. % /?
?/5
4. &

Question Number : 101 Question Id : 4509387301 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The vibrations of four air columns are shown below. The ratio of frequencies is

808 H80¢ Tenth rainPozre SoNmren ranBS e rdyrio A )d

N L .| L |

(a) (b)

() (d)
Options :

1. %
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Question Number : 102 Question Id : 4509387302 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A person can see objects clearly when they lie between 40 cm and 400 cm from his eye. In order

to mcrease the maximum distance of distant vision to infimty. the type of lens and power of

correction lens required respectively are

28 358 50 8¢9 DO 40 cm OO 400 cm aDEIS RGO ) YO W )o2OTP

OGO, & )9 Oga (0Rar 306 (rdo JU8F GOTOOD

GO0 §650 DO AN §E8 1P50e) ST
Options :

Convex. 0.25 Diapter
00235, 0.25 AOSrad

Concave. — 0.25 Diapter
- DEFSeS, - 0.25 CAOTR0



Concave, — 0.5 Diapter

i TS, —0.5 AT
3.

Convex. 0.5 Diapter

i 5002758, 0.5 C4AITraD
4,

Question Number : 103 Question Id

: 4509387303 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If a slit of width ‘x” was illuminated by red light having wavelength 65004, the first minima was

obtained at 8 = 30°, Then the value of ‘X" 15

v Jehen) Ko IOED 65004 BS0ATEE0 HO B 0B |DEN0 D), 6 = 30°

N6 FciE3 $200 G )R0O. WOV x° )

Options :

1.4 %X 10™* pm

12% 107> m
2. #

1.3 pm
3.«

1.2 pm
4. %

Question Number : 104 Question Id

VN

: 4509387304 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
A neutral ammonia (NH;) i its vapour state has an electric dipole moment of magnitude

5 X 1072 C-mn, How far apart are the molecules centres of positive and negative charge.

$69 OIMAH (NHy) AN DBS 5x10%  Erenod-nbdh dsS
BICS2T080 H0TE0 58 0ine)B. AR 00RO Gy So[dEsm SHOO
2EPE 50|80 aNCIS (G0 D).

Options :

. 4125 x 107 1? m
1.

3125 X102 m

2.

3.125 X 10 % m
3. %

4125 X107 °m
4. %

Question Number : 105 Question Id : 4509387305 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If four charges q; = +1 X 1078 C,q, = -2%x 1078 C,q3 = +3x 1078 C, and

Qs = +2 X 1078 C are kept at the four comers of a square of side I m. then the electric potential

at the centre of the square 1s

Q= +1x108Cq=-2x10"8Cq=4+3%x1078C, DOM q,=4+2x1078C (i®

o0 SRTOMD 1 m 2920 1) 28 HEdN0 Tenih 3T I G0N, eS|

50(230 36 ACH3S FBVAHO



Options :

1% 300V
200V
510V

3.¢
410V

4, ®

Question Number : 106 Question Id : 4509387306 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Eight capacitors each of capacity 2 yF are arranged as shown in figure. The effective capacitance

between A and B 15

2 1F © SaPR83 (10 JNE TPt H0S WP SO @08 RGO,
A BN B D0y s 110 D) SFRBIR) 2)EN6)

C
I
I

[
| |
| I

Options :

10 pF
1.4



12 pF

16 pF

4 pF

Question Number : 107 Question Id : 4509387307 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

IfE; = 4V and E, = 12V. the current in the circuit and potential difference between the points P

and Q respectively are.

E, = 4V 580 E, = 12V &0 8900, D06 trad 500006 )Sar00N ;.

P BN Q DOcHe)® seds FBNHO B0 Jeneden DI
E=12V

1Q Q
P AAM—I——AM—®
E=4V 1Q
8Q)
ANWN—
Options:
| % 1A, 8V
14,6V
2.

0.84A, 6.4V



0.84A, 8V

Question Number : 108 Question Id : 4509387308 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Two 1dentical cells gave the same current through an external resistance of 2 () regardless whether

the cells are grouped in series or parallel. The mnternal resistance of the cells 1s
B NP tro Bodotdd (FHS 0, B Hdrosdsol O, 20

© 2PTEABE0S ST SO [3aT 0T 00. JE3 @0oH AEIE0 e
Options :

10

0.5 0

1.50

2.0 0
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Time:0



Two toroids with number of turns 400 and 200 have average radii respectively 30 cm and 60 cm.

If they carry the same current. the ratio of magnetic fields in these two toroids is

400 SHB0% 200 HE Do EORS Boch TG © HED TR0 Denaden
ST 30 cm B0 60 em. TOAOE S NSTHRS DS (NaaPO EOCD. WOV
D3 308 )G ®OH 06 S e A e

Options :

21
1. %
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Time:0



Three rings, each with equal radius ‘1’ are placed mutually perpendicular to each other and each
having centre at the origin of coordinate system. ‘I" 1s current passing through each ring. The

magnetic field value at the common centre is

o F5rtdo SOR, T DS (D30t e B0y IS LFHED 2.8
RS ©0230™ 800, A8 T0E SoBW, AUFE H3d0 T, Hre)
DO 3 80,9008 3 o336 00 6 VR0 T (a0 DeEN

»X

Options:

Zero
1. %

(V3—1) Hol

2mr
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3.¢
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¥

Question Number : 111 Question Id : 4509387311 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
One bar magnet is in simple harmonic motion with time period T in an earth’s magnetic field. If its

mass 1s increased by 9 times the time period becomes

2,8 OO0, 25 @AHRT08 § ¢ HBOS BOSITS TOS) T & NG¢
2207628 THOR DM A, SOTODT,0hs0 T3E) (a5 T°3 9 TED AR,
TR B8 TR0 dend

Options :

3T
1.¢

oT

4T

Question Number : 112 Question Id : 4509387312 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
A coil of mductance L 1s divided into 6 equal parts. All these parts are connected m parallel. The

resultant inductance of this combination 1s

L 8850 $OA A 8 B 3 2PN DAR0BAID. & et 2P
NIPOSISNT §e0IH0 2OANEA. SO & NORTM0 T, IO (8§30
HQIN

Options :



L
, o 36
L
24
3. %
6L
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Question Number : 113 Question Id : 4509387313 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
A 50 Hz AC circuit has a 10 mH inductor and a 2 Q resistor in sertes. The value of capacitance to

be placed m series in the circuit to make the circuit power factor as unity 1s

50 Hz AC SO00S0ES 10 mH (G550 0050 22 © DBE FS Eencaa.
& Soohdn W8, TNds FEED 288m GoReR, SOMNS (FS
§eNDIO VN SPVTIR,) DV

Options :
1.014 x 107°F

1. %

1.014 x 1073F
2. ¢



2.6 X 107°F

4125 X 107F
4, %

Question Number : 114 Question Id : 4509387314 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The structure of solids 1s mnvestigated by using

S DT HOTCIIS SHBrAOT EBeTen
Options :

Cosmic rays

522025 88earen
1. % G

f-ravs

B-8¢earen
2. %

X-rays

8
v X S&eTren

y-rays

y- 8&earen
4, %

Question Number : 115 Question Id : 4509387315 Display Question Number : Yes Is Question
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Time: 0
The surface of a metal 1s first illuminated with a light of wavelength 300 nm and later illuminated

by another light of wavelength 500 nm. It is observed that the ratio of maximum velocities of photo

electrons m two cases 15 3. The work function of metal value 15 close to

2,8 6 aPs00 G0E) E0SOS0D 300 nm SBOATS0 o) 508 S8EFOS 15BN
BOHDAIA. Sareh 500 nm SS0NHTEY50 Ko sHOTME 508 88eTOd (DB
DDA, & B0 H0GEINOS 0SES JO[TS © (18 SHsne A 3
T R0, 00 ¢ a0 T0E) R (AN DV TEIT

Options :

6.48 eV
1. %

1.23 eV

417 eV

2.28 eV
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Question Number : 116 Question Id : 4509387316 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

The ratio of minimum wave length of Balmer series to maximum wavelength in Brackett series in

hydrogen spectrum is
TS SEN0S 27 S eese)) SEoNTTINE, 2736 13IS R ety
SA0NTTRS o) Aa)ed

Options :



25 : 16
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4:36
2. %
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3. v
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Question Number : 117 Question Id : 4509387317 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The half-life period of a radioactive element A 1s 62 years. It decays into another stable element B.

An archaeologist found a sample in which A and B are n 1 # 15 ratio. The age of the sample 1s

A 83 0GAIFER08 Sro80 ed@ne SO0 62 0561070, 98 B @ hFE

P50 ANLN0 ToNA0D. 28 JYTrdehs TN DTN Ssrard A
OB EN 1115 AAIBES G0 & MedFar 50D

Options :

248 vears

- 248 Q003 YT

186 years

186 00Ed YT



124 years

124 Q06€d TN

310 years

; 310 Q0€2 TN
4.

Question Number : 118 Question Id : 4509387318 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The current gain of a transistor in common emitter configuration is 80. The resistances in collector
and base sides of the circuit are 5 k() and 1 k() respectively. If the nput voltage is 2 mV. the output
voltage 1s
GG G DUNOS R 28 E70IN0 B0 [WDaer 98 80. DEOE3 HOOK
S0 F2) SOOFOSD AT HEOIT 5k0 HOKW 1k0. A ST 2mv
9O A 3 2

Options :

4V
1. #

0.4V
2. ®

0.8V
3.¢¥

8V



Question Number : 119 Question Id : 4509387319 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Four logic gates are connected as shown in the figure, If the mputs are 4 = 0,8 = 1and C = 1.

then the values of y; and y, respectively are

T B8) oen HH0S DY S0 E0NaBN. VST 4=08 =

108050 € = 1 800 y; DO ¥, 2NN BT

—)
L

Options:

1,0
1.¢
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0,0
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The maximum distance between the transmutting and receiving antennas for satisfactory
communication m line of sight mode 1s 57.6 km. If the height of the receiving antenna is 80 m, the

height of the transmitting antenna is (Radius of earth = 6.4 X 10° m)

Gon Br HOBS NodyNsEDS (D60 §0 Bodh sotdTye s
OGO a1 RGO 57.6 k. [TaTS SOST™) Je8) 80 m ©ONS (NS S0,
D) (Ararsrdo = 6.4 x 105 m)

Options :

28.8 m
1. %

512 m
2.
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3. %
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4. ®

Chemistry

Section Id : 450938155
Section Number: 3
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40

Enable Mark as Answered Mark for Review and
Yes
Clear Response:

Maximum Instruction Time: 0



